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1. Overall Description:
RAN4 would like to thank RAN1 for the LS on implication of sTTI operation on UL ON/OFF time mask. RAN4 has discussed the issues mentioned in the LS, and have following feedbacks:
1. Regarding the duration of the transient period the agreements in RAN4 are: 
a. For ON-OFF mask for sTTI: 
i. For Tx BW>1.4 MHz, duration of transient period=10 usec
ii. For Tx BW=1.4 MHz, duration of transient period =20 usec
iii. The transient period shall be outside the TTI duration 

b. For consecutive sTTI symbols: 
i. Transient periods =10+10 usec. 
ii. The location for the transient period is dependent on the contents of the TTI

2. There are multiple cases for consecutive TTIs as listed below: 

Table 1: List of all possible cases for transient periods between consecutive symbols
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Table 2: Logic to decide the location for the transient periods for each of the above cases
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	Case
	If condition
	then

	4
	If the last symbol of current TTI is SRS and if the first symbol on the right sTTI is ‘R’
	Place the entire transient period in ‘R’

	
	Else if the last symbol of current TTI is SRS and if the first symbol on the right sTTI is ‘D’
	Share the transient period symmetrically between the two symbols/TTIs

	
	Else
	Place the entire transient period in current TTI

	5
	For all data patterns
	Treat this case similar to that of legacy 1msec+1msec TTI




2. Actions:
ACTION: 	RAN4 kindly asks RAN1 to take above information in the work for shortened TTI and processing time for LTE.
 
3. Date of Next 3GPP TSG-RAN4 Meetings:
3GPP TSG-RAN WG4 Meeting #85		27 Nov - 1 Dec 2017		Reno, Nevada, US
3GPP TSG-RAN WG4 Meeting #86		26 Feb - 2 Mar 2018		Athens, GR
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Case  Current  symbol/  TTI  Next  symbol/ TTI  

1  2os/3os  2os/3os  

1a  2os  SRS  

2  Intra sTTI 2os/3os/7os hopping  

3  2os/3os  1msec/7os  

4  1msec/7os  2os/3os  

5  1msec/7os  7os /1msec  

 


image2.png
1,1a,2

If the symbols across the transient are
[R,R]

Else if the symbol on the right of the
transient is ‘R’

Else if the symbol left of the transient
is ‘R’

Else

For all possible data patterns

Then share the transient period
symmetrically

Then irrespective of the symbol on
the left, place the entire transient
period in the right ‘R’

Then irrespective of the symbol on
the right, place the entire transient
period in left ‘R’

Share transient period symmetrically
between the two symbols/TTls

Place the entire transient period in
right/next TTI




